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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

oS FrpRET Pt g Sad f

(a) Write a triangular matrix.

9ol fagdm (e Bt

(b) State the condition under which the
production function Q=AK%I? is a
linearly homogeneous production
function.

Q = AK*IP TeHMA TE0! FAEART @A
e B FEle (RN TOw! oAl |
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(c) The function f is called homothetic if
flx)=fly)= fltx) = fty), t>0.
( Write True or False )

f T AT = R
fl)=fly)= ftx)= f(ty), t>0.

( 75 @ =79y fordt )

(d) Give an example of an implicit function.

<ot SRS T Srmad

(e) Write an identity matrix of order n.
SR @B Sten (e |

() Economists call Lagrange multiplier )

a

( saddle point/shadow price )

( Fill in the blank )

e @F AT SRR e

|

( =i /i w )
( 2 512 sa w1 )
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(9)

(v

(i)
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What is the norm of the following
matrix?

TS il (e afen f5 750

e

() -2
(ii) -1
(iii) 10
(iv) -10

( Choose the correct answer )

(%7 Tl 3 Sfrear )

State mathematically the necessary
condition for equilibrium of a price
discriminating monopoly market,

T Reefize gvwort Iwa Siemy B
@ gy anfafss 56t forar

If we interchange any two rows or two
columns of a determinant, then its
value remains unchanged.

( Write True or False )
ﬂﬁﬂﬁﬁéﬁm@fﬁmﬁﬁswﬁw
R, (oW W T GG AW As bz o1y 27

(79 & =prey forat )
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( 5)

() What is the trace of a skew-symmetric

matrix?
(d) What will be the solution of the
Refe-Tfe (err B ' following difference equation by
2 Y 5 299 iterative method?
wee fl (v ARFIAGR e afoo
2. Answer the following questions : 2%x5=10 e e 297
oS Wl e Baq fimt Y1 —0-3y; =0
: |
(@) Distinguish between a |
vector. (& scalar and a (e) What value must x have so that the
following matrix A does not have an
WWWWWWWWWI j inverse?
: . . : oo il A (e s AfSEN 9399 AW xJ
(b) Differentiate x +y2 =25 implicitly. = & 2’3 =fR?
W@ﬁfi@ Teele|. x4+y2:25q- S ey 1 2+x
hall 5l
2
(c) For what value of 8, A =[B B -1 ey 3. Answer the following questions (any four :
2 B+1 5x4=20
symmetric matrix? oo fl erpived Sed fat (R ceiet oifset)
2 (a) Find the extreme value of the following
B3I R e i A=|P P°-1 T
2 B+1 <t e function :
e 7’37 oo gl TR 53 i fAdw w4t

Z=e** —2x+2y° +3
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(b) Calculate the 3 .
it o _ej_ *3 matrix A=(a;)s, (e) For F(y,x)=0, is the following implicit
function defined around the point
(y=3,x=1°?

A=@glss  TwD Bl wa R

Wi

a; =2i-j =] F(y,x)=oamwﬁmuﬁ%‘r‘ﬁﬂﬁ
| (y=3, x=1) RS TETH?

(c) Show that the fOIlOwing function icha x3 _2x2y = 3xy2 -22=0

homogeneous function of degree e
< () Show that the following function is
continuous but not differentiable at

S S
SO Pl T B 5 S T o o

@yedt
oS Bl T x =2 e w6
o y)=ﬂ_ SR A= 3 et

1/2
xl/2 4 y1/2 fl)=x-1, x<2
=2x-3, x22
(d) Using _the properties of determin . 4. Answer the following questions : 10x4=40
show that aat, | w=ro firml erepTyed ©ed il
ffaea of s R e @ ; (a) A monopolist produces his product in
' two different plants and his total cost

functions are given by

THIER 15
a b ¢ =(a—b){b—c)( TC1 :20—4Ql+lQ12
a? p? (2 ma) =

TC, = 40 -8Q, + Q3
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If the average revenue function is given
by AR=40-Q where Q=0,+0Q,

then find profit maximiz:
: aximizin
.and maximum profit. : OUtpgissﬂo

aGG &Wﬁmﬁmﬁ@ foq
ATFS &
Ic, =20~4@1+1Q12
2
TC;=40-80, + 02
zlﬁ 61_'\5 W W AR=40__Q ?]'"{g‘

Q=01+0; =¥ @ TS
2 NS SR
T mWWW%ﬁ@W|

Or | g3/

Find the only possibl i
problem 3 i soluﬁon o the

M . . 2 3 .
aximize x“y°z subject to X+y+z=12 10

S R el =l 2.3
TR AT qf g GEa ) P
A 341 TSB!

( Continued )

(b) Analyze the following market model for

%)

stability : 10
woe il a5 SN el Rumd 4
Qp =10-5P
Qg =-10+20P
dp
% _3 =
= (@p =0s)
Or | 9<[l
Solve the following simple market
model by (i Cramer’s rule and
' 5+5=10

(c)

A23/753

(ii) matrix inversion method :

ooe fml e I@i S () @
o (i) AfoERE T Rfer T
¥l :

Cp '-‘Qs

If the cost function of a firm is
C =L +2K and the production function
is Q = LK, then find the value of L and

K so that 50 units can be produced at

minimum cost. 10

( Turn Qver )



( 10 )

R S BV o p—
C=L+2K SI% TN ¥ Q = LK =g
(S 50 B Cifs e e Seom g 1,
Wmm%ﬁqi’qaﬁ‘ﬁ,@}%{@ml

Or [/ 9qt

A price discriminatin

g firm of mono
market . has the fo]lowing demI;(;zl():{
curves and cost functions. Find the—

(i) profit maximizing outputs;
(ii) profit maximizing prices: |
(iii) maximum profit; ,

(iv) elasticities of ¢
i ties emand of
price dlscnminating marketlsje i

4+2+2+2=10

() D S Tl st At

(i) T S ) g

(it) D =re

(iv) T W

%ﬁw:

A =60-4Q,
Pg=42-—3Q2 |
C=50+120, Q=0 +0,

( Continued )

(@)
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( 11 )

Given the demand and supply function
for the Cobweb model as follows, find

" the intertemporal equilibrium price and

determine whether the time path is

convergent or divergent : 10
ool sedEE g sifEm Wi el
ToE o4 SRR SRy W/ e w9 i
S sifooan el @ SR 79, e
4l
Qpt =18-3FK
Qg =—3+4F_;
Or | 91
5+5=10

Solve the following two equations :

were frt ARIeRe 7o! T P
. dy o
(i) a—x—+5y=10, y(0)=6

(ii) Yp1+3Ys =2 Y0)=5
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